KEY

Math 120, 122 Practice Quiz # 12 – Sections 6.4- 6.5
Polynomials, Multiplication and Special Products

1. Determine the degree of the polynomial. Then write the polynomial in descending order:
2x3 – 5x6 + 8x4 – 3x2 + 7x9

9, 7x9– 5x6 + 8x4 + 2x3– 3x2
In problems 2 – 3, simplify the expression.

2. (2x3 – 3x2 + 2) – (5x3 – 4x2 + 2x)
-3x2 + x2 – 2x + 2

3. (3a2+ 2ab – 5b2) + (2ab – 3a2 + 2b2) – (4a – 6ab + b2)

-4a + 10ab – 4b2
4. Write a polynomial that represents the shaded portion of the figure.     
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5. A gardener uses 150 feet of fencing to enclose 3 sides of a rectangular garden. 
a. Use w  to represent the width of the garden and write a polynomial expression that represents the area of the garden. 

w(150 – 2w) or150w – 2w2
b.  If the width of the garden is 50, what is the area?
2500 ft.2
For problems 6-8, multiply the expression.
6. (2x + 3y)(4x – 7y) 


8x2 – 2xy – 21y2 


7. (2m3 + 3)2



4m6 + 12m3 + 9
8. (x + y2)(x – y2)(x2 + 3y2)

x4 + 3x2y2 – x2y4 – 3y6
9. The length of 2 legs of a right triangle are (2x – 4) and (6x + 5). 
a. Use the Pythagorean theorem to derive a polynomial expression for the square of the hypotenuse. 


(2x – 4)2 + (6x + 5)2
b. Simplify the expression.

40x2 + 44x + 41
10.  The polynomial p(x) represents the selling price of an object The polynomial          R(x) = x(p(x)) is the revenue produced by selling x objects. 
a. If p(x) = 100 – 0.2x, find R(x). 


100x – 0.2x2
b. What is the revenue when 50 items are sold?
$4500
